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1.  Consider the following statements about the Indian Constitution:
1. The Chief Justice of the High Court of a state is appointed by the Governor.
2. The Chairman of the State Public Service Commission is appointed by the Governor.
Which of the above statement(s) is/are correct?
(A) Only 1
(B) Only 2
(C) Both 1 and 2

(D) Neither 1 nor 2

2.  Consider the following statements about the Indian Constitution:
1. NITI Aayog is a statutory body.
2. GST Council is a constitutional body.
Which of the above statement(s) is/are correct?
(A)Only 1
(B) Only 2
(C) Both 1 and 2

(D) Neither 1 nor 2

3.  Consider the following statements about the right to property as a Fundamental Right:
1. The right to property was first amended in the First Amendment of the Constitution.
2. It became a mere statutory right after Forty-Second Amendment of the Constitution.
Which of the above statement(s) is/are correct?
(A) Only 1
(B) Only 2
(C) Both 1 and 2

(D) Neither 1 nor 2
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4.  Consider the following statements about National Emergency:
1. National emergency has been imposed only once in our country so far.
2. The 42" Constitutional Amendment amended the provisions about national emergency.
Which of the above statement(s) is/are correct?
(A)Only 1
(B) Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2

5.  Consider the following statements about the no-confidence motion:

1. The current government falls if the no-confidence motion is passed by a two-thirds
majority.

2. The requirement of the majority for passing no-confidence motion is different for the
State Assembly and the Parliament.

Which of the above statement(s) is/are correct?

(A)Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

6.  Consider the following statements about Panchayat Raj institutions:

1. If a Panchayat is dismissed mid-term for any reason, the election for the same should be

conducted within one year.

2. When a mid-term election is organized in case of dismissal of the Panchayat

mid-term, the newly elected Panchayat works for five years.
Which of the above statement(s) is/are correct?
(A)Only 1
(B) Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2
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10.

Consider the following sectors:

1. Mining 2. Construction

3. Manufacturing 4. Gas and water supply
5. Electricity

How many of the above sectors are included in the compilation of Index of Industrial
Production (IIP) in India?

(A) Only two (B) Only three
(C) Only four (D) All the five

Among the agricultural commodities given below, which one accounts for the highest

exports in terms of value from India in the last five years?
(A) Basmati rice (B) Raw cotton
(C) Castor oil (D) Wheat

India recently signed a trade agreement with the European Free Trade Association
(EFTA). In this context, which of the following group of countries represents the members
of EFTA?

(A) Iceland, Liechtenstein, Norway and Switzerland
(B) Germany, Liechtenstein, Italy and the Netherlands
(C) Austria, Iceland, Norway and Germany

(D) Norway, Denmark, Sweden and Finland

Consider the following statements:

1. Around 49% of the net sown area in India is properly irrigated.

2. Net Irrigated Area (NIA) has gradually increased over the years.

3. Gujarat is among the top S irrigated states in terms of percentage of net irrigated areas.
Which of the above statements are correct?

(A) Only 1 and 2

(B)Only 1 and 3

(C)Only 2 and 3

(D)1,2and 3
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12.

13.

Consider the following statements about India's fisheries sector:

1. India is the third largest fish producing country in the world.

2. Approximately three-fourths of fish production is contributed by marine fisheries.
3. Fish production and exports have reached an all-time high.

4. Under Pradhan Mantri Matsya Sampada Yojana (PMMSY), Government aims to

increase the fisheries export earnings to Rs. 1 lakh crore by 2024-25.
Which of the above statements are correct?
(A)Only 1,2 and 3 (B) Only 3 and 4
(C) Only 1 and 4 (D)1,2,3 and 4

Consider the following statements about the National Mission on Natural Farming
(NMNF):
1. The Mission has a total outlay of approximately Rs. 5000 crore.

2. The Mission emphasizes the blending of traditional knowledge of farming inherited

from our ancestors with modern farming practices.
Which of the above statement(s) is/are true?
(A)Only 1
(B) Only 2
(C) Both 1 and 2
(D) Neither 1 nor 2

Consider the following statements about the boundaries of India:
1. The maritime boundary with the mainland of India is about 6100 km.
2. The Pakistan-Afghanistan boundary is called the Durand Line.

3. The maritime boundary of India including Andaman and Nicobar and Lakshadweep

etc., is about 7500 km.
4. The boundary of India with Pakistan was fixed by the Radcliffe Award.
Which of the above statements are correct?
(A)Only 1,2 and 3 (B) Only 1, 3 and 4
(C)Only 1, 2 and 4 (D)1,2,3 and 4
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14.

15.

16.

17.

Choose the correct option that connects the following pairs:

A B
(Mineral) (Mine)
a. Copper 1. Kudermukh
b. Iron ore 2. Balaghat
¢. Manganese 3. Kodurma
d. Mica 4. Khetri

Choose the correct option from the following:
abecd

A 1243

3B 3

@© 4132

MM 4123

214

Which of the following states is a leading producer of cotton?
(A) Gujarat (B) Madhya Pradesh
(C) Maharashtra (D) Tamil Nadu

Consider the following statements:

1. The peninsular India was a part of Angaraland.

2. The Gondwanaland included South Africa, Australia, Antarctica and India.
3. The Gondwanaland drifted northwards during the Carboniferous period.
Which of the above statements are correct?

(A) Only 1 and 2 (B)Only 1 and 3

(C) Only 2 and 3 D)1,2and 3

Which category of the following types of forests occupies the largest percentage in India?
(A) Coniferous and pines

(B) Equatorial evergreen

(C) Tropical deciduous

(D) Desert vegetation
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18.

19.

20.

21.

Consider the following statements about Vasco da Gama:

1. He was a Portuguese sailor.

2. He discovered a new waterway to reach India.

3. He reached the port of Kochi on the West Coast.

4. The king Zamorin allowed him to trade.

Which of the above statements are correct?

(A) Only 1, 2 and 4 (B)Only 1,2 and 3
(C) Only 1 and 2 D) 1,2,3 and 4

Consider the following statements about the Battle of Plassey:
1. The Battle of Plassey laid the foundation of the East India Company's power in India.

2. The Battle of Plassey gave the East India Company the Diwani of Bihar, Bengal and

Orissa.
Which of the above statement(s) is/are correct?
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2

‘T have committed a mistake as big as the Himalayas by placing the weapon of Satyagraha
in the hands of those who do not understand the value of non-violence’. This statement of

Gandhiji is related to which one of the following incident?
(A) Kakori robbery case

(B) Chauri-Chaura massacre

(C) Lahore massacre

(D) Howrah massacre

Consider the following statements about the Simon Commission.

1. The Simon Commission was appointed two years early, so Indians opposed it.

2. The Simon Commission had only two Indian representatives, so Indians opposed it.
Which of the above statement(s) is/are correct?

(A)Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2
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23.

24,
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22,

23.

24,

Consider the following statements:

1. ‘I will die the death of a crow and a dog but I will not return to the Ashram until I

get Swaraj.’
2. ‘I have broken the law of salt.’
3. ‘I am putting salt in the foundation of the edifice of the British Empire.’
4. ‘Swaraj is my birthright and I will march for it.’

Which of the above statements did Gadhiji give during the course of Dandi March

movement?

(A) Only 1 and 3
(B) Only 1,2 and 3
(C)Only 1,3 and 4
MD)1,2,3 and 4

Consider the following statements about the Indus Valley Civilization:
1. Dholavira had a water purification system.

2. Lothal was a prosperous port of that time.

Which of the above statement(s) is/are correct?

(A)Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements about the Vedas:
1. Samaveda is called the Gangotri of music.

2. Atharvaveda is called the Veda of sacrifice.
Which of the above statement(s) is/are correct?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2
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Gur Ul sej/sal (Quuet/(Qutell AUl B?

(A) §5ct 1 (B) §5cl 2

(C) 1 A 2 ool (D) olaAniell As uwl «1(8
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25.

26.

27.

Fill in the blanks in the given paragraph.

After seeing in Ahmedabad, I went to to see Munsar Lake but
I liked Lake of Patan more. Now I want to go to to see Ashoka's
inscription. I will also visit there.

Choose the option in the correct order from the following.

(A) Jama Masjid, Dholka, Malav, Sarnath, Sun Temple

(B) Hathising's Dera, Viramgam, Sahasraling, Junagadh, Tomb of Mahabatkhan
(C) Sidi Syed's Jali, Patan, Munsar, Junagadh, Kirti Toran

(D) Zhulta Minaret, Vadodara, Sahasra, Sarnath, Tomb of Mahabatkhan

Consider the following statements about the fairs of Gujarat:

1. The fair of Bhadravi Poonam is held in Ambaji in Banaskantha district.
2. The fair of Gol Gadhed is held in Garbada in Chhota Udepur district.
3. The fair of Vautha is held in Dholka in Kheda district.

4. The fair of Miradatar is held in Unawa in Mehsana district.

5. The fair of Bhanguria is held in Kwant in Chhota Udepur district.
Which of the above statements are correct?

(A) Only 1 and 4

(B)Only 1,2,4 and 5

(C)Only1,4and 5

MD)1,2,3,4and 5

Consider the following statements about agate:

1. Agate stones are found in the areas of Surat and Ranpur.

2. Craftsmen of Khambhat prepare garlands and beads from agate stones.
Which of the above statement(s) is/are correct?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2
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28.

29.

30.

31.

GRctotleay ot (A ol Aotl [Qtuloll taulal Al

1. (GRy MslRY U gye ALl L ojcoll ofASIR B.
2. desiQuuel A FHUUAA U cfloll ojUSIRA B.
Gur Ul saj/sal (Quuet/(Qutell AU B?

(A) §5cl 1 (B) 55 2

(C) 1 Aal 2 ¢l (D) cialuiell As uwl (s

slalsell Y2 HER QA o(lAstl [Quiell L AL

1. AL H(ER 2« 124 As 23U B,

2. A dRdelly AU divglML g BD.

Gur U4l se/sal (Quuev(Qauedl AU B?

(A) $5d 1 (B) §5cl 2

(C) 1 Ual 2 oial (D) olaAniell As uwl «1(8

2colell ool uldat (Bcle] 2altatd 8. L Glsel sl &UUR UR AWl 82
(A) Ald (secll 4L (B) cllxHec

(C) cld (sccll (edl (D) $de@otiR

202501l olcll ol ydieaual deel Holldd gl scMl wdcl dueudl @
o(lAetl Qe tua A:

1. ¥ eOUHL URadel claal HI2 2025a ASl50Uell arl 313 LAl
2. ABGR A WUA Bl olcll A U tRllol Flehc $cll YUl

3. WEERaUA sc2l@osor, HAllol clldl, slfUR AAsU vl ANRsU Rl Gl
2sallcl® o AUallcll.

4. dR&1Ql Geuleolloll [Qauolla BsiUsR dl¥ elrdo] elot olollald,
GuR Ul sal [Quiall wAul 82

(A) 85l 1, 2 el 3 (B) $5cl 2, 3 Ul 4

(C) $5cl 1, 3 ol 4 (D) 1, 2, 3 Aol 4
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28.

29.

30.

31.

Consider the following statements about Bharatanatyam dance:

1. Birju Maharaj and Kumud Lakhia are the dancers of this dance.
2. Vyjayanthimala and Hemamalini are the dancers of this dance.
Which of the above statement(s) is/are correct?

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements about the Sun Temple of Konark:
1. This temple is a form of chariot temple.

2. It is located in Tanjore, Tamil Nadu.

Which of the above statement(s) is/are correct?

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

‘Pure hearts are welcome in the garden of heaven.” This quote is written on which

monument?
(A) Red Fort Agra (B) Taj Mahal
(C) Red Fort Delhi (D) Qutub Minar

Consider the following statements about the announcements made by the Ministry of

Defence on the eve of the New Year 2025:
1. Declaration of 2025 as the ‘Year of Integration’ to transform the armed forces.
2. Reforms focusing on new domains such as cyber and space.

3. Adopting emerging technologies like Artificial intelligence, Machine learning,

Hypersonics and Robotics.
4. Positioning India as a credible exporter of defence products.
Which of the above statements are correct?
(A)Only 1,2 and 3
(B) Only 2, 3 and 4
(C)Only 1,3 and 4
D) 1,2,3 and 4
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32.

33.

34.

35.

36.

olAetl Ul sl AXAML A YuAld WA AsAl vAYEls 25l GUAlal
53al olollalcllil WA MRcloll UUH SlUoll YAl YHo] AlBdARUL Gglesl sclMl

ulR] 62
(A) dJ%Uct (B) 3R\
() sulies (D) LR ctells

(Aol U8l sau (B3 22 (B3eui eurdla gt AW BsUl 200 @32 Actall 28§
dAlsAl?

(A) AL oJHRUS (B) cllost 1398
(C) 2(ARigel W(Aet (D) HlemHe R
elldloll ARl g2 scl HI2 AlBdRHUl A SWAR (RUlA Aes (324l

Woll[ARU RAR) @25 alimoll As otcll oRs oA UdA 23 3L B, Boll 3
AALPIRSL W2 Ydlotoll UL (ease of life) YrulRellell B.

(A) uiYyugal (B) slloucs

(C) 21%3Uct (D) U@ oloun

AlBRHl A (Qatoll Well 35Ul 2ot, CR 450 &l& ¥Uls Zoto] BatlclW 53 &
(A) ULet (B) ¥¥oll

(C) YAUA (D) Ul

SpaDex (AU SUSat YAty Matet QA ol Aetl [Qutadl t2ual A
1. dal ollAl (NASA) SlRL PSLV-C60ell GUIL $3al AloU scllMl UlcR] &d.

2. Aell G&2 SIS U e\ Rell [Aulals 25l uilawl sclell 8, AW %
yecllofl oA @Rl selHl A wdsiRllell SDX01 el SDX02 of Mt sclall B,

3. SpaDex Maletl 25ellcl%ell GUAL lAMpell Aslot-4 WBsS gL As Ul HEl
Ul WSS Alelell HIZ Sl wLaal.

Gur Ul sal Qutell aul B2
(A) $5c 1 W 2 (B) $5cl 2 WA 3
(C) $5cl 1 Ual 3 (D) 1, 2 ¥al 3

@ | Bks (BL)] [Contd.



JITENDRA
Highlight

JITENDRA
Highlight

JITENDRA
Highlight

Admin
Highlight

Admin
Highlight

Admin
Highlight


32.

33.

34.

3s.

36.

In which of the following states was India's first glass sea bridge constructed using

state-of-the-art technology linking two famous locations that was recently inaugurated?
(A) Gujarat (B) Kerala
(C) Karnataka (D) Tamil Nadu

Who among the following cricketers broke the record for the fastest 200 wickets by an

Indian in Test cricket?
(A) Jasprit Bumrah

(B) Ravindra Jadeja

(C) Ravichandran Ashwin
(D) Mohammed Siraj

In order to bridge the language barriers has recently launched a new
citizen-centric initiative called SWAR (Speech and Written Analysis Resource) Platform

aimed at improving the “ease of life” for its citizens.

(A) Andhra Pradesh (B) Nagaland

(C) Gujarat (D) West Bengal

Recently unveiled the CR450, a high-speed train making it the fastest train in the
world.

(A) Japan (B) Germany

(C) USA (D) China

Consider the following statements about the SpaDex (Space Docking Experiment) mission:
1. It was launched by NASA using PSLV-C60.

2. It aims to test crucial technologies like docking and undocking and meeting between
two Spacecrafts, SDX01 and SDX02 in low Earth orbit.

3. The technology of the SpaDex mission will be used by the future Chandrayaan-4 project

to bring soil and rocks from the Moon.
Which of the above statements are correct?
(A) Only 1 and 2 (B) Only 2 and 3
(C)Only 1 and 3 (D)1,2and 3
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37.

38.

39.

40.

AlBARUL 182 scAUUl WA A% tAlelbe WAl YRsR allold ol Aell
st Al

U AR} oM U
1. Hof GUMR a. AU
2. Sl 939l b. &lsl
3. sualldRle c. Gl ge 8l
4. yllaigHiR d. AR Mrdlad
ol Aotiuiell Ao [@Aseu ue s
1234
(A)abcd
(B)badc
(C)dabc
(D)dach

ARl INS ey eRaue wauusla YAul ua deadla uRlweta cutrel

e WA AYscl sl8QULGs ud st wAl odl.

A) Rbuyr (5) RE AL

(C) SosSlalau D ELGET

AUl [Aazui olgl UR (Aalell Al M2l oltl clitclte(l Alogatial 1ol
wucllell Ylotoll Qefal AR 12 Rl (AN ¢l 8.

(A) Aol ol (B) UcAA%

(C) AL ot D) Ry

WAL A quadd Bk Ana (wAdletstaell selar slell ol As
Acd)oll Wt Aol @std, Aol Aoscotelld dal, Aol @i Yool ([(Acureists(l
walcRela URRAMA Aoltll yeadlot sustl uelst 53 Acl wueau B.

(A) wSARa (B) BCEUSL
(C) AoetslCst (D) ASLRL
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37.

38.

39.

40.

Match the following regarding the recently announced Major Dhyan Chand Khel
Ratna Award

Name of the Player Game

1. Manu Bhaker a. Chess

2. D Gukesh b. Hockey

3. Harmanpreet Singh ¢. High jump
4. Praveen Kumar d. Air pistol

Select the correct options from the following.
1234

(A)abecd

(B)b adc

(C)d abec

D)dach

Recently INS Sarvekshak conducted a joint hydrographic survey with to

enhance maritime infrastructure and coastal planning.
(A) Singapore (B) Mauritius
(C) Indonesia (D) Sri Lanka

Recently China's decision of approving the plan to build world's largest dam over

river in Tibet has become a matter of concern for India.
(A) Yarlung Tsangpo

(B) Sutlej

(C) Chang Jiang

(D) Indus

The discovery of a well-preserved juvenile mammoth in is expected to provide
valuable insights into the development, their adaptive traits and the environmental
conditions of their Ice Age habitats.

(A) Siberia (B) Alaska

(C) Antarctica (D) Sahara
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41.

42.

43.

44,

(LAt uiell 53 u012¢] A2l AHLeA A cuNd s B?
(A) AR (NH,)

(B) 22l5AR8Aet (R-134a)

(C) scAlRlscAlRsl6let (CFC-12)

(D) UCHR SLASUE'S (SO,)

ls (X0l ReglH Yuaacd 2lell 512Q Al B?

(A) [AXatell stetoll Hnuusla RA AL

B) «totoll AlRAZs ouHl FAs, AA2AQS el ellds guslell Aus
(C) SRl iR gecl Ustalell ellal

(D) HSlel YATARQIHL GRAU Al R

Yslalell 7 U2s (AA o{lAatl [Quuell tual A
1. Al dRatdaigal 5100 cteoll ustami Ylaw ustal sl ay Qo sl 8.

2. otell 290 Ul ettt ustaHi Al 28l dRotciollss ua Al ay Gt sl .

3. ofacll ustal geamiel AUsgHHl Al cdiell dRoldous uRla 8.
4. lAl uslal geaniel AsgHol Al wslRell wR g B.

Gur Ul sej/sal (Quuet/(Qutell UL/l B?

(A) $5c 1

(B) $5cl 1 U 2

(C) $5cl 2 Ua 3

(D) 1, 2, 3 ¥al 4

HotH AU Anddl HI2 dHR dHRL s26{l CNG 2i8l s RBA scll SN2

(A) GUR €M alot AR cdlunlet Al ay sl B.

(B) cldcll AclR AR cluriet el A sl B.

(C) ciott uHa Yl sisldol sal uegl AL AA.

(D) S8 URL UM, SRR 518 URL lUMlel CNG oll %28l WAUAA @ B.
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41.

42.

43.

44.

Which of the following is a commonly used refrigerant in household refrigerators?
(A) Ammonia (NH3)

(B) Tetrafluoroethane (R-134a)

(C) Chlorofluorocarbon (CFC-12)

(D) Sulfur dioxide (SO,)

What is Sick Building Syndrome (SBS) primarily caused by?

(A) Poor structural stability of the building

(B) Exposure to biological, chemical or physical contaminants in poorly ventilated spaces
(C) Lack of natural light inside buildings

(D) High noise levels in the building environment

Consider the following statements about the 7 components of light:

1. Blue light has more energy than yellow light due to its shorter wavelength.

2. Red light has the shortest wavelength and the highest energy among the colors.
3. Violet light has the longest wavelength in the visible spectrum.

4. Green light is located at the outermost edge of the visible spectrum.

Which of the above statement(s) is/are true?

(A) Only 1

(B) Only 1 and 2

(C)Only 2 and 3

(D) 1,2,3 and 4

When should you ideally refill your car's CNG tank to get the maximum amount of gas?
(A) During the afternoon when the temperature is highest

(B) Early in the morning when the temperature is lowest

(C) Late at night after driving for a long time

(D) It doesn’t matter; the quantity of CNG remains constant regardless of temperature
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45.

46.

47.

cAlsollHl 2laRHL MRall M2 BEA%el $cll ollgFxotal YltdleAcdl 2ucll QA ol Aeti
Qeutell tua A

1. el M2l URHIQA WA otoll detottdl vol & Ll €2 2lRuiel wsR olst B,
URQUA UHA ¥l Ol 2lARe YAR v uad ol

2. ollegloel WEAxel 5l dy uel sl 8.

3. allsgloet WEAxol scll Ul B.

4. Bl5A%el BsUl 2laARe] EGIQL AR B.

Gur Ul sej/sal (Quuet/(Qutell AUl B?

(A) $5c 1 (B) $5cl 1 U 2
(C) $5cl 2 ¥ 3 (D) 1, 2, 3 ¥ 4

Slu 25 ey (A o{1Aell Qutell U AL

1. Al dsus syal ABRARI AsclerNee UR WURA wilels dotssiol
dsellsloll Axidal s B, ¥ &% Yl 518 unl catull Al@daet e [@sutacatedl
oltsl ®.

2. d WML A dsitlbls wacl 83l [ANAUL olall silotoll WUR wdcl wgldy
(Qarauuillell sietal BB s A Wl G3d WA B,

Gur Ul sej/sal (Quuet/(Quiell AU B?
(A) $5c 1 (B) §5¢ct 2
(C) 1 A 2 ool (D) olaluiell As Ul «i(d

@Qsliol A 250AY HAAlAAA A scoeH R2Let (AN oAl Quell il A

1. AlssA AHA, AL AL AASIR el AlAdN 2ot 12 A1 yeuellxlul G Adealddl
ol AE Uldaiol WA NoAlHle: [@suiad.

2. et GUsWoll J(3aet MR Yurssse olda Adlssse ua AWAYsA
Al Befl sclload AHIALo{l 3Bt WA A2ANGL (Synthesis) A UM et UG,

GuR Ul sej/sal (Quuet/(Qutell AL/l B?
(A) $5d 1 (B) $5c 2
(C) 1 Aal 2 vlal (D) cialuiell As uwl «1(d
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45.

46.

47.

Consider the following statements regarding the preference of nitrogen over oxygen for

filling vehicle tyres:

1. Its larger molecules leak out of the tyre at a much slower rate compared to oxygen,

resulting in more stable pressure over time
2. Nitrogen is denser than oxygen
3. Nitrogen is cheaper than oxygen
4. Oxygen increases tyre pressure rapidly
Which of the above statement(s) is/are true?
(A) Only 1 (B) Only 1 and 2
(C) Only 2 and 3 D)1,2,3 and 4

Consider the following statements about deep-tech startups:

1. It involves early-stage technologies based on scientific or engineering advancements,

which are yet to be developed for any commercial applications

2. It typically produces a solution along with unexplored pathway based on new knowledge
within a scientific or engineering discipline or by combining knowledge from multiple
disciplines

Which of the above statement(s) is/are correct?

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) Neither 1 nor 2

Consider the following statements about the National Quantum Mission of the Ministry of

Science and Technology:

1. Developing magnetometers with high sensitivity in atomic systems and atomic clocks

for precision timing, communications and navigation.

2. Supporting the design and synthesis of quantum materials such as superconductors,
novel semiconductor structures and topological materials for the fabrication of

quantum devices.
Which of the above statement(s) is/are correct?
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) Neither 1 nor 2
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48.

49.

50.

51.

52.

INDIAai Ralet (A o{lAotl Quuoll L2l Al

1. 32l oJalael curdl

2. el Al &H R @Qsuad B.

3. e S Ysl Y3l wsdl

Gur Ul sej/sal (Quuet/(Qutell AL/l B?

(A) $5c 1 (B) $5cl 1 ¥lal 2
(C) $5cl 2 Ual 3 (D) 1, 2 UA 3

GURcloll GLSL HSLUIR Aluat Aot 6,000 Hl2e(l QsLE 2l MR HecelyQl B?

(A) 3,000 ¢l 5500 Hleell QSIS <A WEANUAS AsYcU A UCKIBSU Bell
yecllot AAlusllofl L3l slal HA 8.

B) A WRllell vie2 ANuet ctsell W2 Wl YAAA Gustes Halel .
(€) A yeclloll iH MRl HstH ASLE B.
D) A Be ustadReA WA Gst e RRA 52 B.

AUl aASlUtlel gL A3 $AAA ‘Malet HWae] walls cea 9 B2
(A) eRag Aur woll auRal

(B) eRasisloll [QRARIHL Yclldolal Wcdllssl wlUg

(C) elRct lolgcll-2M1e al scliMlol UlARUS A olal A YR 59
(D) scltHiete(l AUEl sRclloll 25AAYA UEAR olatlalcll

o(lAe{l uisstale(l AQAHL WL ¥ 1, 3 v 7 AsAA 32cll cuwid el B, Al 7
HEAUL & Vol 1 Vel 3 Aol vlal sl B?

Ael:2973173771331738571377173906
(A) As (B) A OEUE (D) AR

P+QolAud PA Qoll Ul &, P -Q ol Ul P A Q ofl 6ldal &, P + Q oll
UL PAQall oS B Al P x Q oll AL P A Qoll Al B, Al A Ul uleleaulse
B+DxM=+ NHU, Mua B clall Aol 9 82

(A) W=l (B) WAt (C) Yt (D) Il 818 ol
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48.

49.

50.

51.

52.

Consider the following statements about the INDIAai Mission:
1. Enhancing data quality

2. Developing indigenous Al capabilities

3. Providing risk capital to startups

Which of the above statement(s) is/are true?

(A) Only 1 (B) Only 1 and 2
(C)Only 2 and 3 (D)1,2and 3

Why is the depth of 6,000 meters significant in India's Deep Ocean Exploration Mission?

(A) Presence of valuable resources like polymetallic nodules and sulphides are found
between depths of 3,000 to 5,500 meters

(B) It is the safest depth limit for underwater exploration vehicles.
(C) It is the maximum depth of all Earth's oceans.

(D) It marks the deepest point of the Indian Ocean.

What is the primary goal of the ‘Mission Mausam’ launched by the Prime Minister of
India?

(A) To enhance maritime trade routes

(B) To promote tourism in coastal areas

(C) To ensure India becomes a climate-smart and weather-resilient nation

(D) To improve weather prediction technology exclusively

In the following series of numbers, find how many times 1, 3 and 7 appear together, where
7 is in the middle and 1 and 3 are on either side of 7.

Series:2973173771331738571377173906
(A) One (B) Two
(C) Three (D) Four

‘P + Q’ means ‘P is the mother of Q’, ‘P — Q’ means ‘P is the sister of Q’, ‘P +~ Q’ means
‘P is the brother of Q’ and ‘P X Q’ means ‘P is the father of Q’. In the expression
B+ D x M+ N, how is M related to B?

(A) Granddaughter (B) Grandson
(C) Son (D) None of these
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53.

54.

55.

56.

Baiat 12 (5.4l Grl? d2% AU RURGlLE, A 4 Bl €@l drs uc. ugl A 6 (5.3
yd drs Alel. §A d A3uldell Ggell 32cll g3l uR 82

A) 6 (5.1 ) 5 (5.1

(©) 10 (5.1 D) 3 (.11

ol Aot sl crellott A ol AQL WisSIB Gl ¥ sRUHL Al B, uL UYL
o{lAell Ustell 54 &l 55 sclloll WL

Aslel wot Qesla eld B, AU [Qaldd calsala eald & s ddn UYsd
geollMl 3l caulsadlal eala 8.

Qaled calbaa % Usd geolul @ B, Uq wol Rats dl3 stdRd «ell, d
olaniell s\ golld B2

(A) C (B) F (C) D (D) A

alnell [Qetsl ¥ B3l ulReld B, ud AYsd URaRHl 83 «t2ll, A {lAuidl sla
gald B2

(A) C (B) B (C) E (D) D

ol H(3olloll AAH B YsallR scl ARl (B adcl 8lat, dl A HEetlell 2ol
Rau sal Rau 62

(A) YsalR
(B) AHlR
(C) yual?

(D) Lz
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53.

54.

5S.

56.

Kiyansh walks 12 kilometers towards North. He then walks 4 kilometers towards South.

Finally, he walks 6 kilometers towards East. How far is he from his original starting point?
(A) 6 KM (B) S KM

(€) 10 KM (D)3 KM

In the following diagram three classes of population are represented by three figures.

Answer questions 54 and 55 from the following:

The triangle represents the school teachers, the square represents the married persons

and the circle represents the persons living in joint families.

Married persons living in joint families but not working as school teachers are

represented by

@Ac (B) F ©D D)A

School teachers who are married but do not live in joint families are represented by

(A) C (B) B (OFE (D) D

If the seventh day of a month is three days earlier than Friday, then what day will it be on

the nineteenth day of the month?
(A) Friday

(B) Monday

(C) Wednesday

(D) Sunday
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57.

58.

59.

60.

61.

As ASUML Ll ASL siH 53 8. uid ASle] UdG %A AR 8.00 Ul olW? 2.00
atdle{l A sid 52 8. €U Alsle] ol U AR 10.00 &l A% 4.00 cule{l a2
sl 52 8. ol UlA Alsle Al o dlR 12 &l U 6.00 cldAlell AR 51U 52 8.
AUUFAUL 2Rl 5112f2? B Boll Guallol ol sALRA ctzalk 52 8. o{lAtHiell st
sclsl e@let slejeall Al ay Gualal Ucltell ettt B?

(A) ?UR 12:00 Yl W 03:00
(B) UcllR 10:00 Ul «WR 02:00
(C) AR 01:00 Yl lWR 03:00
(D) AR 02:00 Yl ol WR 0%:00

oSl "GUJARAT" 26Eoll €35 A& 1Y% YOURIML Aol RA(A AofULR Avul UMl
A, dl d RA[QUA el g B2

(A) 79 (B) 80 (C) 78 (D) 76

As Aot el WUl 219 stoll oyl LsHL AUA B Aol AUl wHRI oyl
RCHL AU B, >R AAM Aol RAMQ ole@ 8. ugdl M2 stoll syl ¢ w .
Al AUsite] WHR( clyel oiq elet g 82

(A) 403 (B) 163 (C) 28Y (D) 12y
As dldan ¥ Add Bsudl WA B, A AR YR 9 A 10 AR wya B,

A HoleR MR 9 A U RRe w8, dl Ml 3 dldan sUR AR 1HA
olcdlalal?

(A) AHAR oUR 1
(B) WHUR oW 3 clldd
(C) WHAUR AR U clld
D) RIEGEERTINERTECTED

R Uell HIQUA slclelal, s@stA sgl ¥ A 1Rl WAl uelloll Elslall eues 8. R
URell 1R sldst A 3l A Acilld B2

A) uld (B) 42t
(C) QRS eus (D) etx(lesl
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57.

58.

59.

60.

61.

There are twenty people working in an office. The first group of five works between
8.00 A.M. and 2.00 P.M. The second group of ten works between 10.00 A.M. and 4.00 P.M.
and the third group of five works between 12 P.M. and 6.00 P.M. There are three computers
in the office which all the employees frequently use. During which of the following hours

the computers are likely to be used most?
(A) 12.00 P.M. - 3.00 P.M.

(B) 10.00 A.M. - 2.00 P.M.

(C) 1.00 P.M. - 3.00 P.M.

(D) 2.00 P.M. —4.00 P.M.

If each letter of "GUJARAT" is assigned its alphabetical position, what is the sum of those
positions?

(A) 79 (B) 80 (C) 78 (D) 76

In a birthday party Ramesh stands 16™ from the left and Sapna stands 28" from the
right, when they exchange their position, Ramesh becomes 28" from left. What is the new

position of Sapna from right?

(A) 40 (B) 16" (C) 28 (D) 121

A clock which moves continuously fast, if it lags 10 minutes on Sunday 7 AM, it is ahead

S minutes on Tuesday 7 AM, then find when the clock shows right time?
(A) Monday at 1 PM
(B) Monday at 3 PM
(C) Monday at 5 PM

(D) Tuesday at 5 PM

Pointing to a man on the stage, Kritika said, '""He is the brother of the daughter of the wife

of my husband". How is the man on the stage related to Kritika?
(A) Husband (B) Son

(C) Cousin (D) Nephew
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62.

63.

64.

65.

66.

67.

"PSYCHOLOGY" 2l6€ Hioll AelRell Guallol s3lal o{lActiMiell 520 2AcE oloticll AsLA
o ¢fl?

(A) SCHOOL (B) GOOD

(C) POOL (D) HOLY

111+ 1111 + 11111 + 11,1111 oll Al 32l ALA?
(A) 44.4012 (B) 44.4321
(C) 44.1111 (D) 44.1234

ol 20 AvAAell URAA Yo B, Al L AvaARAHIY ayui ay ecl qvau yoaudl
il &g ad?

(A) 1 (B) 10 (C) 19 (D) 20

Aol Aol HIRS UdLRell 5% clHIML, 15% eUSIHL Al 25% LRWAHL WA B. %l Aoll
YA 21100 oltsl @ B, dl dell UdR 32l B2

(A) 1500 (B) 1800

(C) 22000 (D) 32200

QL GUO(lELRL W, ‘o el ‘s’ B BV 2:3:1 oll UHIRHL ol§l-ofsUlel A B, W UG
ek latell Aal RS 1000 Adet HA B. % A5 ML Well IR U atsloll
s sHRll 42,000 8, Al Ul gt o8l 32l A 2uclq] B.

(A) % 90,000 (B) % 1,26,000
(C) ¥ 1,00,000 (D) ¥ 1,02,000

As AURIA o{lA Yootell WRlE wal QAR (EHA WA WR sl sl. sl cAdslRH
Auilal Well ay estadl ofstet U?

(A) w3le (Bud: 236, QAW (U 717
(B) W3le (Suct: 350, Al (Fud: 224
(€) wile (Bud: 740, A (SUd: 719

(D) W3le (Sxct: 760, AU (U d: 229
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62.

63.

64.

6S.

66.

67.

Which of the following words cannot be formed using the letters "PSYCHOLOGY"?
(A) SCHOOL

(B) GOOD

(C) POOL

(D) HOLY

What is the sum of 11.1 + 11.11 + 11.111 + 11.1111?
(A) 44.4012 (B) 44.4321
(C) 44.1111 (D) 44.1234

The average of 20 numbers is zero. What is the maximum number of these numbers that

can be greater than zero?

(A) 1 (B) 10 (©) 19 (D) 20

Saajan spends 5% of his monthly salary on insurance, 15% on rent and 25% on household

expenses. If he has 1100 left, then what is his salary?
(A) 1500 (B) 1800
(C) 22000 (D) %2200

Three partners, A, B and C, share profits and losses in a firm in the ratio 2:3:1. A is an
active partner and receives a monthly salary of *1000. If in a particular year, A's salary
and profit amount is ¥42,000, then the firm's total profit for that year is which one of the

following?
(A)X 90,000
(B) ¥1,26,000
(©) X 1,00,000
(D) ¥1,02,000

A vendor made four transactions with the following purchases and selling prices. In which

transaction did the vendor incur the greatest percentage loss?
(A) Purchase Price: 36, Selling Price: X17
(B) Purchase Price: ¥50, Selling Price: 324
(C) Purchase Price: 40, Selling Price: 19
(D) Purchase Price: 60, Selling Price: 29
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68.

69.

70.

71.

72.

A5 Wl A5 WcdR 12 sclsHl WSl A 8, AR oflosl Vg A o WdR 18 sElsHL WSl
A% 8. %l ool WA s1H 52 Al WdR Hecl AU WsLA?

(A) 6 SCUS (B) 7 SCUS
(C) 7.2 sclls (D) 8 SCS

A olall RAUWACL RIEHUN Ui otal sALRAA el 531 8. €35 s310la 75000
ol A3ullcdell HIRAS UdUR HAL B. UdURell 32lof ([AAMEBL 5 Al dAMell UdURe
HERAS, HEARU Wl KgEls otssl sA. wHil 53 MU L R_EAUUHL otell sHARLU
dlelldls woue A YA 52 82

(A) MEtaLs: T5000, HEARAU: T5000, USES: 20

(B) Mtals: 21000, HEARU: T5000, HEELS: T5000
(C) Htals: 35000, Ht2AReU: T5000, GLGES: T5000
(D) HtRLS: 25000, HEARU: T5000, GLEES: T5000

ol visoll As Aval V. L AvAHL EASA is, WsHoll 35 5l oHRL B. 1 Al
Avaloll Bsla Gatelclal oicll vl olotictcll A Aol dal ya Avuuidl oue
salldl wld, dl URRUH 36 HAL B. Y vl 0.

(A) 84 (B) 60 (C) 53 (D) 51

ol 51¢5 AUs vl oll 45% Hill 45 olle sRAUUL WA VA HAOd URRUH 45 8la Al A
AuAl 58 62

(A) 100 (B) 200
(C) 300 (D) 400

As Aol col AR 10 cllod A3 YU Gl 1.27 o YA Ll ul et AR

Al AAl B, €35 cld A 5 M[eall As UM WA B, Al €35 LA S2cl
ARz 622

(A) 45 AlA2
(B) 48 (e
(€) 50 M
(D) 55 Ml
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68.

69.

70.

71.

72.

A farmer can plow a field in 12 hours, while another farmer can plow the same field in 18

hours. If both work together, then how long will it take for them to plow the field?
(A) 6 hours

(B) 7 hours

(C) 7.2 hours

(D) 8 hours

A newly established startup has hired five entry-level employees. Each employee receives
a starting monthly salary of ¥5000. Analyze the salary data and determine the mean,
median and mode of their salaries. Which of these measures best represents the typical

salary of an entry-level employee at this startup?
(A) Mean: 35000, Median: ¥5000, Mode: X0

(B) Mean: 21000, Median: 35000, Mode: 5000
(€) Mean: ¥5000, Median: 5000, Mode: I5000
(D) Mean: 25000, Median: 35000, Mode: 35000

There is a two-digit number. The tens digit of this number is twice the unit’s digit. If the
digits are reversed to form a new number, and this new number is subtracted from the

original number, the result is 36, then find the original number.

(A) 84 (B) 60 (C)53 (D) 51

If 45 is subtracted from 45% of a number and the result is 45, then what is that number?
(A) 100 (B) 200
(C) 300 (D) 400

The class starts at 10:00 AM and ends at 1:27 PM. During this time, four periods are
conducted and there is a S-minute break between each period. What is the duration of

each period?

(A) 45 minutes
(B) 48 minutes
(C) 50 minutes
(D) 55 minutes
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73.

74.

75.

76.

77.

As Uglds Avaunl dott uglell wslds Avauell AQL AU GARAL 27 Al Al A vl
2Ll

(A) 12 (B) 6 (C) 3 (D) 9

As 5 Hl2? dioll AuReldl (Aol B Rl 3 Hl2R g2 B, Al AUl Gursll
Bl 3ecll Hl2z QAUSA Ralea AusFA 8912

A) 5 Hle
(B) 3 Hle?
(€) 4 l2=
(D) 8 Hle?

As od(laell cens 60 {2 ua usloue 25 Hlez 8. Axl gaRiell 60 AU Hle?
xRl LS| €65 cALSletl ctallutMl 1 ARAU Hle? €ls 5 3[a AW Alet scllell W3 32l
U3?

(A) 7200 3(au
(B) 6000 3(Qaul
(C) 5400 3(Q2u
(D) 4800 3(Q2u

8lRa] cloel 25 UM 35 RUAAUH, olotsle] cowel 15 U 5 MA@ ua [Elo] clogat
10 olM 450 AUAOUH B. AL AY URWlle] A Aot 32d B?

(A) 50.390 AH
(B) 50.490 UM
(C) 50.580 UM
(D) 50.680 UM

65 GllOLSl YRlcdl As iUl €35 ollsal llslell A Avlell 20 251 Becll Hlsles
Holl slat A gat decll Hlole ecll?

(A) 845 (B) 715
(C) 650 (D) 520
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73.

74.

75.

76.

77.

In a natural number, adding three times the next natural number gives 27. Find the

number.

(A) 12 (B) 6 (©)3 (D)9

A ladder of 5 meters long leans against a wall. The bottom of the ladder is 3 meters away

from the wall. How high up the wall does the top of the ladder reach?
(A) 5 meters
(B) 3 meters
(C) 4 meters

(D) 8 meters

A garden is 60 meters long and 25 meters wide. If 60 square meters of the garden are
reserved for a fountain, then what will be the cost of laying lawn in the remaining area at

the rate of S rupees per square meter?
(A) 7200 rupees
(B) 6000 rupees
(C) 5400 rupees
(D) 4800 rupees

The weight of a necklace is 25 grams 35 milligrams, the weight of a bracelet is 15 grams
5 milligrams and the weight of a ring is 10 grams 450 milligrams. What is the total weight

of the jewellery?
(A) 50.390 grams
(B) 50.490 grams
(C) 50.580 grams
(D) 50.680 grams

In a class of 65 children, each child received 20% of the total number of children as sweets.

How many sweets were there in total?
(A) 845 B) 715
(C) 650 (D) 520
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ol Aol HE Ml usl 78 ol 80 ol wclell AU,

»*

olA WA ol AUS Acdcd A dy 2000 Wl 2001 eR2let usiael Suolloll ©

MLl Yrclsle] Aalal (s Avuul) ealld 8.

2000 3ol 2001 ML Uslael sUo{lell © wuwdl - B1, B2, B3, B4, B5 3o B6 Hidl

Yel$lo] dulal (&1 Avaulul) 8.

120 -
110 -
100 -

105 110
95 95 95

90 85
80 . 80 75 75 — 80
70 - 65
60
50
40
30
20
10 -
0 B1 B2 B3 B4 B5 B6

Branches 2000 I 2001

Sales (in thousand numbers)

78. oial a M2 B1, B3 ¥lal B5 L] $E AAURL g B? (&R AvALH)

(A) 250 (B) 310 (C) 435 (D) 560

79. o 2000 HI2 MM Uvdlo] ARRAA AAULL (%12 AvAML) d2df B?

(A) 73 (B) 80 (C) 83 (D) 88

80. oiol cnl W2 Wul B6 of & AUEL olal adl M2 Ul B3 oll & AUl F2cl

2sl 82
(A) 68.54% (B) 71.11%
(C) 73.17% (D) 80%
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* Give the answer of questions 78 to 80 from the below information.

78.

79.

80.

The bar graph given below shows the sales of books (in thousand number) from six
branches of a publishing company during two consecutive years 2000 and 2001.
Sales of Books (in thousand numbers) from six branches - B1, B2, B3, B4, BS and B6 of

the publishing company in 2000 and 2001.

120 -
110 -
100 -

105 110
95 95 95

90 85
80 . 80 75 75 — 80
70 - 65
60
50
40
30
20
10 -
0 B1 B2 B3 B4 B5 B6

Branches 2000 M 2001

Sales (in thousand numbers)

Total sales of branches B1, B3 and BS5 together for both the years (in thousand numbers) is

(A) 250 (B) 310 (C) 435 (D) 560

What are the average sales of all the branches (in thousand numbers) for the year 2000?

(A) 73 (B) 80 (C) 83 (D) 88

Total sales of the branch B6 for both the years is what percent of the total sales of the

branch B3 for both the years?
(A) 68.54% (B) 71.11%

(C) 73.17% (D) 80%
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81. elMIY(& U Aulat 3(2o(l gRA o(lAstl [Quuall o AL
1. A €Sl SELU Hal .
2. A AR cdl A,
Gur Ul saj/sal [Quuet/(Qutell AU B?
(A) §5ct 1
(B) $5c 2
(C) 1 Ual 2 oial

(D) olaAniell As uwl «1(8

82. elMlY(& U Auet 3(3oll gRA o(lAstl [Quuoll Lol AL
1. RAUL UR CcASCUUR A%l
2. 3L s AGUAR Y3 s
Gur Udl s¥/sal [Quuev(Quuell AU B?
(A) §5c 1
(B) 85 2
(C) 1 Aal 2 6lal

(D) oialuiell As uwl «1(s

83. eyl A Auat 3ol gRA (1 Axti [QAuiall 21 AL
1. % § U ol WA olsolly.
2. i o8l BUA Al ULl Al L.
Gur Udl s¥/sal (Quuev(Quuedl AU B?
(A) §5ct 1
(B) §5cl 2
(C) 1 ¥Ual 2 olad

(D) cianidl As uwl o
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84. clMIY(& U Aulat 3ol gRA o(lAsl [Quuoll ol AL

1. Rl UR Alal AN olrcAl sall.

2. As et stell 8ls3l odl.

Gur Ul sej/sal [Quuet/(Quiell AU B?
(A) $5ct 1

(B) §5c1 2

(C) 1 Ual 2 olad

(D) olaAniell As uwl «1(8

85. llMLY(S A Auiat 3(Bo(l gRA 0o [Aulel UE §A:
(A) HIRL Uldt 2ot et o1l
(B) HIRL Rl 2Rrutd Ul «t2l.
(C) IR Ulctl 2Retd et ol

(D) HIRL Al AR Ul «tel.

86. o{lActiiedl Al Asellell [Ascu ue s:A:
(A) o{l2te(laue{l
(8) ARulelmtoll
(©) (el
(D) ie{lausll

87. Aol 2seall @scu ude sA: st
(A) Aallal
(B) ASE
(©) (3eu2L
(D) YHA
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88. sdclclall uel U : “Wuslell cn 83
(A) vid Yl Hud o ysdl.
(B) SlHal A o) 2ua.
(C) A3 8l d deA o A,
(D) WReuH uell std L.

89. VESIR] 53 BEIGWL WE US B?
(A) Udlol Ul &cll Aol cotoll el Mg Slellaldl sdll.
(B) (Qucll, uMLsell WYl deie] Yrs slS.
(C) RAA dsstA YHHL ActauA sAl sl
(D) dldt dAwe A8l ¥ @,

90. ol Aottuigll saluRA UM GELSMQ UAUE 5A:
(A) §ARR
(B) Ruello
(C) LRYHULY
(D) RHULAZeL

91. Choose the correct option for the blank in the given sentence.
In 1991, she with the socialist of the Year Award.
(A) was present
(B) is present
(C) was presented
(D) is presented

92. Choose the correct option for the blanks in the given sentence.
They waited the airport three hours.
(A) in, since
(B) at, for
(C) in, up to
(D) of, since
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93.

9.

9s.

96.

Choose the correct option for the blank in the given sentence.

There should be punishments for the breach of traffic rules.
(A) many

(B) much

(C) too

(D) severe

Choose the correct option for the blank in the given sentence.

Albert Einstein went to high school in Munich, where his family when he was 15.
(A) has moved

(B) moved

(C) was moved

(D) had moved

Choose the correct option for the blank in the given sentence.

Misunderstanding place when complete facts are not properly presented

during the discussion.
(A) takes

(B) has taken

(C) take

(D) had taken

Choose the correct option for the blank in the given sentence.
I think, I have lost my mobile but I’m not sure.
(A) ought to

(B) might

(C) shall

(D) will
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97. Choose the correct option for the blank in the given sentence.
She gave us mangoes from her garden when we visited her.
(A) a few
(B) few
(C) much
(D) a little

98. Choose the correct option for the blank in the given sentence.

Every child with some inherited characteristics into a socio-economic and

emotional environment and trained in certain ways by figures of authority.
(A) is born

(B) born

(C) will born

(D) would born

99. Choose the correct option for the blank in the given sentence.

In 1931, Charli Chaplin invited Albert Einstein who Hollywood to a private

screening of his new film.
(A) was visiting

(B) is visiting

(C) was visited

(D) was being visiting

100. Choose the correct option for the blank in the given sentence.
I opened the book at the table  stood the lamp and a large mirror.
(A) on which
(B) whom
(C) whose
(D) when
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SPACE FOR ROUGH WORK
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